42nd BCS Preliminary Question

Question 1: What is the correct indirect form of: He said, “You had better see a doctor”
A. He proposed to see a doctor.

B. He advised that he should see a doctor.

C. He suggested that he seen a doctor.

D. He advised him to see a doctor.

Answer: He advised him to see a doctor.

Explanation: C& direct speech o3 subject second person 28T A3 ‘had better’ NF™
indirect speech 43 s« X&- Subject + advise/advised + object + infinitive + F1fF 7|
Question 2: Identify the word that remains the same in plural form.

A. tiger

B. horse

C. elephant

D. deer

Answer: deer

Explanation: o3 %1 9% IS singular 432 plural form 9%2 I AT |

Question 3: Which word is correct?

A. Furnitures

B. Informations

C. Sceneries

D. Proceeds

Answer: Proceeds

Explanation: Non-count Noun plural 2T 1| @12 furniture, information, luggage, machinery,
scenery 2931w noun plural (e o1& A7

Question 4: To doctor an animal means-

A. To treat it



B. To cure it
C. To poison it
D. To sterilize it

Answer: To sterilize it

Explanation: IR %16 a7 Accessible Dictionary e[S, Doctor verb RIE T30 (T a9
o 7@ A - (5) () ofFSHT FaT; [FOw a1 =151 TenfveE A1 F4T: to doctor a tomcat. () (GO
CTET (@) () RSTE=a S F471

Question 5: The word “flying” in the sentence “Look at the flying bird” is-

A. gerund

B. gerundial infinitive
C. verbal noun

D. participle

Answer: participle

Explanation: Verb 93 ST ing (15T T If% adjective a7 F151 @ IXT8 Verb 3 adjective 95 F151
P, ©OIRE O present participle 71 ET: present participle = Verb+ing = adjective =
Verb-adjective.

Question 6: Identify the determiner in the sentence “Bring me that book”

A. bring
B. me
C. book
D. that

Answer: that

Explanation: Determiner 95 X1 13 Noun/Pronoun-( Determine $T11 Noun/Pronoun a5
fAftger-arfaftigel Jame aft 72 271 J6T That =9 a6 demonstrative determiner| af6 noun
book-(F T FA®|

Question 7: “A Passage to India” is written by-
A. Walt Whitman

B. Nirad C Chauhuri
C. Rudyard Kipling



D. E M Forster
Answer: E M Forster

Explanation: < 'A Passage to India' is a famous novel which was written by Edward Morgan
Forster. « The important character of this novel: - Dr. Aziz (Protagonist), - Mrs. Moore - Adela
Quested, - Rony Hislop, - Cyril Fielding, - Stella Moore.

Question 8: What is the meaning of “musk”?

A. a form of drama

B. face cover

C. a disguise

D. a substance used in making perfume

Answer: a substance used in making perfume

Explanation: Musk - a strong-smelling reddish-brown substance which is secreted by the male
musk deer for scent-marking and is an important ingredient in perfumery.

Question 9: Go and catch the falling star. Here the “falling” is-

A. An adverb

B. A preposition
C. A verb

D. An adjective

Answer: An adjective

Explanation: TS determiner / article / preposition / possessive AT T %6 word ATFET
6 Noun | 311@ f6 word AT CTEAT Noun 432 46 Adjective 2T 1 93T, the a7 & BT
S (T falling aFG adjective.

Question 10: Hasan has read most of the of Shakespeare.

A. poem

B. play

C. drama

D. works

Answer: works



Explanation: Cambridge Dictionary-(® (w831 Most 97 761 STRACH (& %% Hfa - Most of the
information was useful. He’d made most of the desserts himself.

Question 11: Who wrote Dr. Zivago?

A. Maxim Gorky

B. Leo Tolstoy

C. Fyodor Dostoevsky
D. Boris Pastornak

Answer: Boris Pastornak

Explanation: Doctor Zhivago, novel by Boris Pasternak, published in Italy in 1957. - This epic
tale about the effects of the Russian Revolution of 1917 and its aftermath on a bourgeois family
was not published in the Soviet Union until 1987.

Question 12: Fill in the gap with the correct form of the verb: The police informed
yesterday.

A.is

B. are
C. was
D. were

Answer: were

Explanation: + Police (noun) (S3{851® 'noun' STS31F 'singular' &, 'plural verb' 512 §79%® 2J) (the)
police SR FHF [ 7117 IR, ferT1 Source: Bangla Academy Dictionary. * The
word 'police' is uncountable - it has no plural form, but has a plural sense and takes a plural
verb. Source: Cliffs Toefl.

Question 13: Complete the sentence. If | were you, | take the money.

A. shall
B. will
C. may
D. would

Answer: would



Explanation: Second Conditional:  If + were + extension, would/could/might + Verb- a9 present
form. (I34: - If | knew the answer, | would tell you. - If | were you, | would pat your jacket on. - If
| were you, | would take the money. - If | were a bird, | would fly to you.

Question 14: Would you please find out Bangladesh the map?

A.in
B. at
C. over
D. on

Answer: on

Explanation: on a map - I'm just trying to find Vancouver on the map. - Would you please find
out Bangladesh on the map? Source: Longman Dictionary

Question 15: Liza had given me two

A. pair of jean

B. pairs of jean

C. pair of jeans

D. pairs of jeans

Answer: pairs of jeans

Explanation: Pair a9 plural form pair 43} pairs G2 Examples - - a pair of gloves/shoes - a pair
of pants/scissors - Each package contains three pairs of socks.

Question 16: “Giving someone the cold shoulder” means-

A. To torture somebody

B. To harm somebody

C. To appreciate somebody

D. To ignore somebody

Answer: To ignore somebody

Explanation: Cold shoulder English Meaning: a show of intentional unfriendliness / an

unfriendly attitude shown. Bangla Meaning: 9/335]T® 965 Ex. Sentence: He showed a cold
shoulder when danger came. Bangla Meaning: (57 fsitia s573 3 fRefa@ foveem|



Question 17: “September on the Jessore Road” is written by-

A. Madhusudan Dutt
B. Vikram Seth

C. Kaisar Hoq

D. Allen Ginsberg

Answer: Allen Ginsberg

Explanation: Allen Ginsberg, American poet whose epic poem Howl (1956) is considered to be
one of the most significant products of the Beat movement.

Question 18: Identify the correctly spelled one.

A. Scissorian

B. Ceasarian

C. Ciserian

D. Caesarian

Answer: Caesarian

Explanation: Caesarean - an operation in which a woman's uterus is cut open to allow a baby
to be born. less commonly caesarian So, the correct spelling here: ) Caesarian. Source:
Merriam-Webster Dictionary.

Question 19: What is the function of a topic sentence?

A. To introduce the topic

B. To analyse the topic

C. To expand the idea

D. To present the main idea

Answer: To present the main idea

Explanation: %G Paragraph-a @@ S Sentence A& | (12 Sentence SR At ﬁ“{

Function A& | - Topic Sentence introduces the main idea. - Supporting Sentences develop the
key point. - Concluding Sentence marks the end of paragraph. It also summarizes the key point.

Question 20: For God’s sake, hold your tongue and let me love” occurs in a novel by-



A. Jane Austin

B. Syed Waliullah

C. Somerset Maugham
D. Rabindranath Tagore

Answer: Rabindranath Tagore

Explanation: (W121% (817, 4353 §7 39| SIENAININE (7 SNE SITH | ” 01y SIHE CTFA
FIOT TIWI, S AINEF OF TRA b SAF| A TRA FTAR 5P @@ John Donne 97
The Canonization F{FeTd 93 T34 (¥ - For God's sake hold your tongue, and let me love.

Question 21: AfEeTF A7 FICINT = (F1AB?

A. e
B. fe1ar
C. ey
D. STeTFT

Answer: SToTH|

Explanation: SIf&e13T (fRT735) - 1(ed Soee SHfFe1s A1 M| Serd (fRemy) - 92 fed
FTRG! e AT AT | SESTHT H RAISNS 141 TAOIFT T2 IRAT ABG ANSHTT 7
TRAT ST 8 N2 &8I, . CNfsa Cr¥E|

Question 22: 3f8 A 5fé%F aFfe-Te13-

A FT+3R
B.33+
C.3+3f®
D.3¥+f®

Answer: 33 + 8

Explanation: « 3 (RCT) S 261, 34, FRFR| 2 IS | (@79 I1 F© =) VFI+9(fF))
T35 IREAT AFSH ST « FR 97 *A{dF 7 {2 $7 + 91 - 3-97 7@ © I Y VFE, TNFE © 3
YATIEE 8 5 2T - 57 - B - X+ S, T - T + Y1 T3 »>F-S0% (TNF I (FT6 I3

Question 23: ‘Notification’ -9 AT TS (FHG?

A. fRsarre
B. faesfe



C. Tty w1
D. s®e A6 fed FaT 3@®

Answer: @ o4 ST FI1 7@®
Explanation: Notification (noun): [uncountable noun] f&sf& wiw; &&T15; [countable noun]

{3, (o, [, RFPS (FEIF ABTR 2070 T FOHF FNR) AETE| JoR:, [&FofE 3
BT - GOR WfoF Sad | Tz RN AFTGA ASHTH

Question 24: 3% a7 fF93e = @62

A. FT
B. SIS 0F

C. ST
D. afas

Answer: T@as
Explanation: 23% (F0m) - 336 e; 93 g | TNF6s (o) - eSS, Ta6s TR,
AETed| R e = aas

Question 25: (FHMG 8% 93?

A. TO556
B. @
C. SizaEfsrer

D. IF4T
Answer: I

Explanation: IF91 76 8% | 97 &S 2 - I F THSE 8F

Question 26: ¥f3F I 7T (FAH?

A. sEfe
B. &I

C. 89
D. T4t

Answer: =aT



Explanation: ST A0 8% | A7 S&HET - S| 8ef, ¥FT/HT, =T 93 IAASEN 8% T:
TR AFTG ASETT

Question 27: IR A% SAEITTIT (T SRS 2@ Te?

A. IRET
B. 3o
C. faf%
D. 9 %%

Answer: JF%F

Explanation: S1fee1 JfFeeiita e RS 6 a8 Femdi afsfod (@ 1 (FIET M
S TR IRAT | FIETOISHT 2@ 3T, FETT, FEAF 3 AEAT| - N FA I (F, IRAF 61
SASEE W& A FF SINAR NG @1 @ IRNIGT]

Question 28: (FH NRGTFH THOFF TSI ATR?

A. et

B. ftewnfa=
C. TemSaar
D. 5¥m

Answer: 5%

Explanation: - 5XT(a SR I 2F 'S q] 'S ©T | 3 ST (FRTS T, (FINS I | ©R
A "ACET-ATE SRS I 27| SAPIOH T9SE TEIT (F1F = 66 ©f A6 I NEF 77| T
AP =Ead [AEIE A8 MaFe TF AL @65 TT: ARG AFNFE (FFE1F 93 IRAT ST 3
TfRes e, ©. Chifa CTag

Question 29: TI&T AAFIBT =T (F?

A. FITAN HFF

B. CT¥ H&T Hfa
C. GIRRIw 15T Sty
D. =1 (B1gA

Answer: T3 (BIYt

Explanation: « IR H1fR(eY 6o SR 576% 8 [Awee e RRonE At m Gidh - fsfa
'FHIT AT TIZF I NAF Toe] TFPT FEF| * ©IF IRAT S5 5fTe e I36F I 21|




AT TTNTST i Fow & bfete Afox sy T6aT1 « fofer Mfiw sTgEeTa (5>8) a7 T=iweTy
T, - AAGET, - TTF RAZ| SN2 IRATSAT 3 2wy FBH, T. Gfela CraF |

Question 30: ﬂ!eﬂ_’%l@ 3% J©d (FA6?

A. Blewsig Tfy

B. F AFoS
C. FErd

D. S99 8 FdfoF IBIOT

Answer: ST 8 TNA 0P IBIIO]

Explanation: - $139 8 ANA[GF IRIOT TN F61o] 1297 SRl - af 936 Jeyaieied
TSN | W T 9T FEF TQAEH T BB Jb© foxad JEIwefed STt AEE
5% (OF G PE | TSz IR ST $ NIfRey s - T. (N CrF

Question 31: ‘TAT (F|F ST I 7?2

sl
E:

%44

Answer: gf%

Explanation: « I1a1 14f6 ©f¥ | « @fF SHTE A& FEFH T4 FEA: - SHIF, - (B, - Ao, - 77, -
SIF4, - 51, - (BT, - &S, - IR, - A, - JCETT, - i, - (AT 2efIw | Tz IR ST 3 TRy
&SI, T. CNE T 97 IRAT IFNG TS

Question 32: ‘ST HF RES (FEAG?
A. Fathom

B. Enthral

C. Erudition

D. Clemency

Answer: Clemency

Explanation: Clemency - mercy; lenience. - Similar: mercifulness indulgence forbearance

compassion humanity sympathy - Bangla: Wﬂ«‘j\_r_g © HATATST AP



Question 33: I5F, CT¥ Y[FFF TN SINNTE NG F TS 77 F© T2

A. Robdo
B. 0%
C. x0M¢
D. 0%

Answer: 05

Explanation: ‘SI1g SISl 35109, (T4 7 T2 A6© OFF ST AASIIAREF F3| - 2053
STITR S 3T 206 3 TR0 27| bR G feamee TEawat Cray 2INeT| 2@ Sefam FERT
T. T AT | FFTTS FSfNSID (3 fIRNGS | I6T 54T 26 380 A oo @™ | T,
A6 7R o 32 2EM: - ‘FIRTMET (@EARGT (2059) - AN (T FIBIT’ (R0%0) | (Faz IATHY
AHSTAT AT WAF IEHF)

Question 34: FITETET TGF06F [[FFT-

A. TFI9E TZISES

B. fAis-*m1e SFfod w1

C. WfIersSifae Siaa Il
D. (MFE® Staa-51ghe

Answer: (FT® SI77-1:3S

Explanation: (e 91 Qi 165 Wf2es @ a6 {67 8 /sy 9% 41371 IRNF S J1f5F
AN T AT HIFACR foef SiF NRSTFOE ST o357 | fofay ©iF NESIFE (FS SRS
AH® FN© T MNEF AT S IFEC NIETF AMATATNET TITSE | (T AT Al 163 ARy
f¥E T foF 8 ey 9% HTAT| IRMF SR TS SAAACT T AT SIFACAT et ©IF
STRSIFCE T o351 | fofel BIF MNRSTFE! (FF ST Fe O T R AT e
FEAA NI ABAP[RE RATSET | BT SIFTLAS AGTH3 ©IF FaaTe | e qeaa w55
fAe (feret et Qe ART-ABIFAE T I 71 FEA| [T©, A AGE TR PGS Ay
AR AT FfOF 5767 8F 27| e 2@ SE® BT AMNEF TP @ ST5T© S
e TrRFMeF ACTH-SMEACEH 26T | (TAET SR - FGNTT A& A MAFIET (TFA©
SiRa-m3fe a3 a7 SR fasesfa s sfAfee 231 Tst: et G 33T, 7oy S Sa Joa stersr

Question 35: T FHYFT A (F1A6?

A. o131 8 stfe = mtfe
B. M4 (T YFF = MY
C. PHEE o[ (FIHT = FSA@HA



D. fix fofzre amsier = fvszrste

Answer: 22 fofz® arse = fSREa

Explanation: 1% 6 aIse = M2 (ATl F(E1E3) | FEE A0 (P = FIHAERA
(ST FHUTIT) | M2 (T 5T = NIPFA (N FHEIT) | AT 8 *fS = w1fs (777 ) | T9e
FREAT FFAD, DF-50 CIfT 9T S-S, T. AR W

Question 36: I Gf6 T AF

A TTRSer, TGS

B. S, AP

C. Wy, tfre

D. ST, fAwy

Answer: ST, e

Explanation: - 7@ ST 8 AT 43 72 ORCT ©IST FH1 T | - IS I@ ST F (35 T 7
©IF ST I | - R 0T NYTFTS (537 A& | T2 IRAT ©1FF I@aer 3 fAffhs, Fas-wr cafer|

Question 37: IXFF ST @ F1I3-

A. et
B. R o).

C. JTS!
D. Ta=e!

Answer: THFo!

Explanation: ¥R FIEE SEARTT SN IS ST SARTST | SNHATF TOHSTH OT N7
TOH TS FF AT | « I SAETSEH NRSTF ST 22 - THAIS, - N 5IFF, - NI, -
(ST, - FHTF IMSHPA 2e510| TSN TRAT ST 8 WIfRwy Bes™I, . (Tfera (137 |

Question 38: TN & 3 H17?
A. i1

B. ISR T o

C. SImTe 93T FFT7 FAT

D. Ief (¥ fFeifbe 2837

Answer: e (W [FoIfdw 2831



Explanation: SE (f0T5) S Ir¥e5IST; F0T A1 IR0 (A [To1ioe 28701 X e, st {(©357a
T TRFO) S +VIT+HAG+IA(H)} TSz TRAT AFTG ATGHTT

Question 39: “fIfF FTTT TNET” 97 9FIVF T e F J(A-

A. TS

B. W&

C. T

D. G

Answer: &FIXF

Explanation: ey a52Pnea sf3e - T3S B35z S-F1%1, T2 A

Question 40: SIETF JF JF A5w- GF JF° T4 Gf6 ATPoSIF SHIHG 28IMF -

A. T=fay
B. & =1

C. I
D. o =

Answer: 5% ™

Explanation: fasre o1 33719 S& @™ 9% | (- AEF (FRTS- A1 AT o, 4737 4737 41 |
ST (FRTS- SN S TF FF (J1H FaM% | SIFA STelae] (@FRMe- & i, gt F F@w? Staer
(FTRNCS- ST ST ST | TSz TR ST FFA, FIN-T7 (Afel

Question 41; 8% I 7 (FAG?
A. I35 38 O1F (FIET IRFF (@21
B. 2! If% AT F@ M7 (e |

C. O] (IRAT ANH© T

D. SAFTFE AT FIFS AT

Answer: JFTIE AT FHAS 711

Explanation: SIFTA 3 FIHS 71 - IH0 SFESIT (MIEF 78 28T a6 871 97 85T 33 -
ST AT FET 7



Question 42: SITSSTeR! IRTGCTT FRIIHET ATOT NI ST 2R TNEH (@1 SR
SHe 2J?

A. S JoFdT
B. w6

C. s fSoag
D. S I®1_]T

Answer: S JE [T

Explanation: IRTNECTT ST ATOT (&F1F ST STr=f@Tm S af3e, $293 ST 08 Fusts [0
RIFHT TTTT FHIMD TOF FAT 27| 97 Torife fRETe - T. FWT @O | - 92 FAIG 906 FIF FE 3507
I FTT FES AT2 32 AIFF, SR BIFE ST IFIm T FAT T NEFS AATEAT el | -
ST TS ST SANENHAIR 9 293 NEF 8 F(©FF ©F SIFHIm o7 27| 8 AT 012
SRIFET 0TSt R ey F7 271 - KT S FECIFF, $593 5 (@ FIHFA 27| Az IRAWCTT
ENEEIGEECEIL

Question 43: F35TT (FNF MG F e “CIAT 217" 97 Ffedrer (F?

A. (ST
B. faazsmer
C. 31T
D. &3t

Answer: &3

Explanation: - 1 0T STACI M &3(11e (G ZIE 35T (Sl MRIGE ‘IR 3R
SO FEF | - 2@ G TR [RXF S Ao [@HITH[RA ME TIGE 6 ROTE TFe |
- af6@ TTECET $»> ¢ NE T PROTF ©IFFT TRge @ | (S@: IRACTE 20N 3 frsTeyer :
FIH-TTH (1)

Question 44: FRATCCT S TR{[UP ST (FAG?

A. TRSTT et
B. &S TTH
C. MRS
D. 15 ©yIfer

Answer: 5] SYIfer

Explanation: - IRECTE T SRUS STEEA S5] STNEa | IRGCTE SAUIEE AFNE O Twe et
SN N5 SHESaft ePIfFeld @t 8 AfHere 27 2080 FE S BRI T35 s s



et

Question 45: IR NFFTA F3 FHOTT RITHET F© SAeran T 32

A. 9
B. %80
C.yob
D. Swq

Answer: Y99

Explanation: « IREACTE SITHEF S0 a2 Soeav ST TP F ST AodT FT1 27|
IRATT NI NS Fhrr ([Afasfy) a6 miFsnfas sfed@| aft @ [{ym e, son
TETE b AT Sfefde 271 A3 T b AfEEE - IRACTT TSI T BT {1357 FRANE ey FA71 27|
STa: ARACTT SRIFHT 93 Live MCQ fia 7 a3z fifes sifest fAfSasm

Question 46: IfoT%T (F1T I FRATTT 61 FV2205T T3 T FT 2I?

A. q afse
B. v G FIE!
C.v o6
D. X (ZFIR

Answer: X (FFIE

Explanation: X (FZFITAT - STSIT SR o5 b TR - g Sy fas $35e v (ferd IR
8 fag *1fey

Question 47: Global Vaccine Summit 79 o 23-

A. ¢ (J 030
B. b 9518 2030

C. b IR 030

D. 8 g R0%0
Answer: 8 3 3030

Explanation: The UK-hosted Global Vaccine Summit heralds a new era of global health
collaboration as world leaders show overwhelming commitment to equitable immunisation
coverage and global health security in the face of the COVID-19 pandemic. World leaders make
historic comments to provide equal access to vaccine for all. _ Global Vaccine Summit held on



June 4, 2020 Source: GAVI

Question 48: TII & RGIAT T6feTe I FS=(F (-

A. 7 REPEA
B. 31T I1T
C. SIS
D. J9Ww-a54

Answer: J39-996¢

Explanation: ST Sifeceer-& (1@ SSIT SFTTey (MFET @ T2%e SfEa Iy e 1@
SPINO FET ONF FIW-TI6 FET| (T2 AN ©f e (GIEF THel, S & ROIET| TN SR,

T.2TS TRM

Question 49: $59) N BRI TIFH F9F TII© HAHTH A foeel-
A f&T TP

B. IR«
C. T1Eier
D. &3 =y

Answer: 5F IRH]

Explanation: « STT&1R% STARAT, $295 ST Y@ ST JBTATH (N T30 IR ST
TR FRAT AQMRF JX7@| AAFIG JeT© 02T RTINS T IRANT NASTES AF6 T6F N | A7
I et A3 JfSYraa TS 8 YERRITH FMoT ST QT ST 932 AAUE IRATCTH
AEY @A T [TIoe JfF 3 NTHNeF AT TAeTRNRF SIIRAT T FFIT 27 SD9S WET S
(T (29 @ $@9%) | T3 G

Question 50: TZSTT ST (FT 5T ST QRIS T F(F?

A. SIET TS Tfer
B. &1 SIfF %
C. Npo AT AW
D. O JS(eT

Answer: SI%e AG(e5

Explanation: S NGfeT: Gy NG(erT IRt ATt 376 MfRey 8 TRFfod Neordel| (aeT
AN A 3 SRETAT So[F© FAF FoWF I ©Fe [R1F A53RRE T&@R I IS T 93




TS54G | af6 e ST AT S5 o2 B | - 5989 NEF X CTHIF BIRFT frgf{myeas g
RT3 DTS SIHTET SN T Ao 2T - 9% ASET ST (e - TRAT ST M5
RFNGF (T FAT| TSI Y- 7 RN ST NEF STHMoF Qe e s 8 8wyl | - 61
fRrafmyeTEa s ReTea STs SIge FICTEE St aft fefde 23 a3z fofa a8 ssd@a
ASHTST NHTFT T fRET | - S FS T JTa 2T - TR S a1 aft o=+ sFire
2T 458 NIETF 48 AGFT (b FMOF L0€t)| BF(© NI APEF TOENGAT Tore fREa MEw
S AT @ TS T ARG STHA| 4589 NEF S (NEHFF "MRFIEH FBSRT IRAT /1 52"
PIETAIET IR ST TEF S NG (e 9Ff6 YT FFTT S| T: TVl J(&d Gleresia (TAF 3¥T),
T - 8> 3 IRATCTA 302N 3 fFasTeyer : age-m (It

Question 51: ME[EF (MR (T 5T I5-T35 o (OfH(© TTO] FEF ©IF JET?

A. FfFTeT
B. SRl
C. Igoat
D. I o35

Answer: ¥ T975

Explanation: - TEIMET (I I5-To351 LA (ofd® N2T6] F(E ©lWd 1P Jo5 I97 27| - I
HOPIBETNE AFSET 1) T M | TG HE AR TS, FH0 !, seeifer, e, o, MY, wie,
O, MF TN | Az IRAT SR IS, FIFN-T (T |

Question 52: WIPO 93 WF w93 (1T A5 ?

A. STIPRG &
B. @™

C. o3z

D. (5ol

Answer: (S1(d9]

Explanation: 7 GITg 51737 (WIPO): - SfSOTFTT - 38 SFTR, 49 ST - fSHF I - S5FE,
SRGH - NI 3237 -- $20f6 Jef157 STty (7 8 816 1A sFA@HS (7T - AOHIPA §fe -- The WIPO
Convention - a9 - (Se], SROFTG T35z WIPO S@ITRG 8 Live MCQ Content
(upcoming)

Question 53: IRAWCT TN Se1Afo JF (F1F (w1 CVF- 97 Forife fef?

A. TR
B. 51T



C. STTST
D. A1 SRS

Answer: ST SRS

Explanation: Climate Vulnerable Forum X Sy SfRI8@A J1&A S1EF JfFe 31T
(TISEE (16| Y00 S (FIEARE S FCHAG AHIE A2 (S 510 27| 92 (o TOTT
TSty ST 846 | 9% (SEA 2030-303% (AW ASTASF T e FA@ IRTATT| IRACTR ST
T AT CVF (SThd TONE Serife | - IRTGCTE & 97 Forifed M ke Srfd SRS | (8
Climate Vulnerable Forum 3@Js35)

Question 54: $58-5>CR NEF O A W9 ‘] a3’ RM@E @ a6 & F47 e1?

A. 3¢ CT ST
B. S 2 (&AM

C. 3¢ 7 afse
D. sS2 6

Answer: S\3 16

Explanation: - ST IZSTAT R FTIGE TF (AF $»8% MEF S Nb IRASHT 7T 7y
T ST iR 271 afva STRECT NIHTE S0 O (R3] 2| afud T 8feite aIw@ zore
T AT I, AT AT AR (SHOTT FH | T8 -3¢ FTh TS HHTGH TIF (R8T 2|
AT T SCR A6 ATS ASHS el ACAANPIRNGH S 936 G0 I 2| ([az IRTCTR 26T 3
freTeTer, IR 8 fFsifaey | FIx-7 341)

Question 55: BT STSH] HLT (FTAG2?

A. T
B. faTgm

C. Tpferan

D. e

Answer: IfF

Explanation: IRATWCT [AFST SPEF (OIENTTF A7, (FSNETST FI=FF ASIF, AAA6F (FF7 A%

e 3 47 F1aE fAfed SrermE s3fE @@ f&foT I Fasrer Tox (1fdw afite ST sI&
TS BT ©F 2Ff; AN BIT IRACTCTH ASTA 28IF TES 77|

Question 56: FAEE T G (FEG?



A. =3¢l - IR
B. (6@ - (&N

C. ©9 - IR
D. 1Mo - HIF

Answer: F1M0F - HIFA

Explanation: SNTCTE B S ATES el S fofate =1 I=aE Feee o G IN—=af
G 8 T (TS RN ©Ts1 FAT 2| JF (TN NETFTS SN (AF TG NH 57 NAIS NS
AT G FET | AR 1T 3@ e ety =155 31 B3 RReTE AR o | A5 G q2enst o1 47 23|
ART- b2 7 T (NF WSS T =1AF THA AHA-5 G 1 AHTT F977 27| WfF-32 ST TN (A&
©1Y T G THA AfAF-3 G AT IH ST Fo01 7| TS5 FIATY, 9% (A0S TRFFT) | - ©F
STSIT B ACE AT G S AHTEF 2@ b¢ M 77 TR FS6F T 3(® HIgd NN 78 I&
SEY T W

Question 57: I ICE : COLDNESS, ©@ EARTH: ?

A. Weight
B. Jungle
C. Sea

D. Gravity

Answer: Gravity

Explanation: Coldness (I3 Ice a7 &3/84, RS aFf &3 1 87 2% 97 Gravity.

Question 58: D-8 Organization for Economic Cooperation 37 D8 AT W S S (F1T

ChILICERYS

A. rgaT
B. (92919

C. g
D. B1=T
Answer: GI]

Explanation: - D-8 (Developing Eight) X1 35fers f{0g Saxate wf6 (q07a s srfafes (F@
TEIEF TRAMIOE ST 3@ 436 (&6 1 - a6 S>> TETR S¢ I 9 2F| - 97 T QAT
3T RE 50| - IRATT Y03 A D-8 (Developing Eight) (SR Nerife RHE mie szl
FE®| - 03 NEF b AfHe GIFT T D-8 SCHeT e 27| (SX15a: f&-v SWITRL)



Question 59: (FF (W6 FafS ITARETH S FHLATGD T57F F1T FER?

A. oI =T

B. $@®

C. 81

D. iY@ AR Ao

Answer: S:J& AT IAMIITO

Explanation: - ETRRETE S S SFT (7 fROTE FoLANOP Foo1 57 S P | - O 23 [ferst
T 2o S (77 g1 - FOIT (T FEE, - TSI (7T AEF AHATS 93% - 5o (7 e
FOANSS TTF T FE IRARA | - S AFH Y030 N SN (FT S[F FIETEH G2 (7 AFT
IS 3 TR FoIANGF TP FTT FE| T3H: TR ANBIFS TPafes TeE a3k [ &GS

Question 60: 5 (F 8> T RATSER 5TG F62

A. 8
B. wo
C. vt
D. x¢

Answer: ¢

Explanation: S (¥ 8> X3 SRATBEF 5TG = (b + 83) /3 =3¢

Question 61: ST IRA@T SHA 6 396 (F?

A. RIS AT
B. af3ST o
C. 9d AWF

D. frgs 39

Answer: fogs 3

Explanation: e} fafImye® siafse TrEiaer J&ma MES Sy SR IRAT | « o
©TFA - g FG1 - S253 NEF So HFAMH 17w Sl STRIATET 2 afE SEEHT FEA| - 3 70
SEIIF STATT IRACTT FISTF AR AfbF AT FAT 77| TS IRAMAGAT a3% 17 fFend

Question 62: GIF] (SR6 97 (1T (F7?

A. I AT



B. J91F S stfer
C. 6 I

D. = Sprer
Answer: S (el

Explanation: (STT5Te STEG SI3RBOES AT IR SETE fRerel 7 e - aFfes o (3@
AFINe BT (FTF-2 T A, M I Sbbo (W@ Sbb© T MET GIFE Hia oz Fawe 93
T T AN (AP TH] SO GIPT (SR6-6 a1 FERE | GIFE To7 2O2CTH TF 92
FA® 0o TEF ATBIT 92 (@TFT ‘BIFT (576’ | T35 M@y fFend

Question 63: 5TFX oft 972 BIFT ¢ 6 F@ TNF RATF ANAF T IE 9F @ 619 8t FE@
P T FIE D e Tohd] Fo e ] Bfo 2@ ©f [FdT FH|

A. 8.3¢% e
B. ¢.3¢% Ffe
C. 9.3¢% e
D. b.2¢% Ffe

Answer: b.2¢% Jl9

Explanation: &3, 519 © 6 3@ ¢ 5@F T5&M0 S¢ G SEfs &3 FIET AR 5T ¢ 6 3@ ©
BT AT S¢ G e w3 FAET IAN13, 0o 6 SARERF FI FIEN b 53 .. S G Aerdig H35ew
/oo BIFT S BIFH 8 6 (S [T T, & 6 eefea Rz o/8 B1dT [Ty - F3yes = o/8 -
B/00 = (5@ - YY)/ Yo = -5/ Yo BIFT AR, FfS 2T v/Yo BIFT .. o] Ffed 7T =
(S*x@ox500)/(Yox¥)% = b.3C%

Question 64: FF ST TR fde377e 37 F16 §f& “The Kyoto Protocol” SIfesy 9
7 A1 7o 27?

A. 008
B. 5%
C. 3009
D. %939

Answer: Y219

Explanation: - (33% SR 1IEE S W BI21G ST ST fefsSTael ST STaeT S»>9 S &S fovma
ST FEIGT 2@ FEET G 2o 271 - 6T TRAWF 39306 (T 8 TeFT1 006 AEH b
&FIMF afb FHFT 271 (Ja: UNFCCC 3FIRD)



Question 65: (I “Bretton Woods Institutions” 93 989 ?

A.1DB
B. ADB
C.WTO
D. IMF

Answer: IMF

Explanation: - 5 (A& 3} S[T1R $88 W SR G [T (F6+1 SO A8 STB
RIGE SPe 8¢ & (qeTa afsfafdma sz 2o §fed MNE afsfde 27 ARaNa% 3 fFIhRF| -
O} ARIFI% 3 fTITRFE (F6 SO 2AFH0GH I W1 T2 f[TITRF 3 AMRIFNAZ STITRG |

Question 66: (F19 §f&d A& 2OETEF “Thirty years’ war” a7 S9IfJ 56?2

A. STTR §f&, 5259

B. T3 §f&, va30

C. T §f&, save

D. S LT N §f, susw

Answer: ST @ §f&, svew

Explanation: Peace of Westphalia, European settlements of 1648, which brought to an end the
Eighty Years' War between Spain and the Dutch and the German phase of the Thirty Years'
War. The peace was negotiated, from 1644, in the Westphalian towns of Miinster and
Osnabruck. The Spanish-Dutch treaty was signed on January 30, 1648. Source: Britannica

Question 67: IRAWCT T D TS NMaFIt NI IO -

A. BARI
B. BRRI
C. BINA
D. BADC

Answer: BADC
Explanation: - IRAECIR T SFFIT v TS AmaF 1t 769 2 BADC (Bangladesh

Agricultural Development Corporation) | - S»>bS ST afsfde 5 "NFI F1H ST FCETT (7T
T 519 BADC Ta1E S| Afoq T SR G119 AfSfIe JfFw|

Question 68: faf6* FX T84T T3 NEow 2@ wT?



A. AT TerIte
B. 5@ oAt
C. (AGT ToTale
D. SBWT TeTHI®

Answer: IBTT TolAt®

Explanation: « Agricultural revolution, gradual transformation of the traditional agricultural
system that began in Britain in the 18th century. Aspects of this complex transformation, which
was not completed until the 19th century, included the reallocation of land ownership to make
farms more compact and an increased investment in technical improvements, such as new
machinery, better drainage, scientific methods of breeding, and experimentation with new crops
and systems of crop rotation. Source: Britannica

Question 69: NFA-STETI PORF §fe TFe 23-

A. 2 6, 2030

B. x¢ ST, 2020

C. wo affd, Y030
D. 3 (Z&3MH, Y030

Answer: 3> (FFIIEF, 2030

Explanation: - SI%sTaI NG AfEHTF 7EH 5T 39 HHFIME 2030 SIFHE FOE (TRIT ISAZ 3
STERATES M 2 TGS TS | - TEANRT T TEF FFd TIFRTA! TS T3 3
BIETAES TCE SIETIE T (FOTAT 92 §fG1e THI FE| - 93 §fe APIE S8 AT ME AwMvI T
(N TN (T S (T A [ AR IS 3 FOT @6 | Az Haqaq 93 RS A58
SEefed STATEIE, AfET 2030

Question 70: FRTICTH TSI AT (FIF AT® T T NIGE @12

A 3F 3 IS

B. I’y

C. IF% 8 & (7
D. g

Answer: g
Explanation: IR SIfAf©F SMFT-x030 T, - S FH AMed T vo.0¢ ToRT| -

3 ATE 737 TF 0.5 ORI - I ATE AFES STl 8o,y Tor| - e e ames
T €. 0 TERT| - g AE Tqf&T TF L.8% TERTI - e e fTfEe TSt 20.8 TSR -



f&fEfe CTaT Ao STWE @590 TORT| - T ATe A& T €93 ToRN| - (7 Ae e
SAGTST 0.0 TR

Question 71: fETT¥F-0%0 3 TFE IRA-SIFS fFMNFF SIEI T SCHTE FIH NS TETF
IFfFe z3?

A. oft
B.¢f6
C.>%
D.qaf6

Answer: 9

Explanation: 39 fS0THE, 2030 IRACIT THETT CT M 3 STAOF FHNANG! A@S (N N
I (5 IO© 2F| - 42 (M0TH TN ST TF (FHEE AT A, TN&F SFIa, FATR
Tefo @ TRRITSTH FEH Wefo FPOIE §fe, TG 3 TR @ N2 27| SN2 SFGEE 933
SIS AT

Question 72: 595 ST ‘The Concert for Bangladesh’ (F11T I1¥e 23?

A. BB
B. FFTe
C. oo
D. fro3ms

Answer: fq533%

Explanation: - 59 SITTH & SS6 M J@ NG NO33% NoT FETH S 'FoNb T

TR SO 2| - 97 ST fRETT FG (V0 719 O U@ IRNGCTH /AN F2FS] F4T| - 97
T ST e (25T SO (Toldamd T3 ATRFF| - SIF AN2AN JoT M@ MfFe F5swer
fGeTTa & ZfEse, 39 fSoT, e o1 o a3 FATG TATZT FEA | - IR ANFIF A4 A,
CITEF SW AT TN A8 & R | (SAnfa: IRNfAGAT 932 Y@ SET SFIRG)

Question 73: fAGa FAM JfeIafefer TqH safta?

A. S I T

B. FelfNeToT

C. SIRTE (ST X %
D. =ferr

Answer: gfe]



Explanation: [[&y&6f6® Tatm 6efta - 2fe - aft ol FE OIS GIFIEH | - TEF T
SIS RIS FNH STF APCH AFIT TIFNER [T G- TS@T N 2T I (T TT=ST
9% SFIE V@ (T I AT ST FASTS T G QLT A ©ITSIF (NPTHT | SINSI
(TR ICAETR AN AW TS Y EIT 163 T 5oIba o Tmo od T safea SiE @ GHA-F
AHCTTE AT FIRF S35 Wi s fFenb

Question 74: =S ((FHTF 2030) (FTA APE fTFT AT ASTRIRSTT 3 SAHNITF & =
23?

A. G TS T
B. AFTbET feabarae
C. @S

D. ASMHAI-FIIRTY

Answer: FISE-FHR0Y

Explanation: - ST FTART TEIT FET ALE AAFS ACIA] 3 ASTIIROTET FHFT 56
e @12 - afp ATHCFONT ATFIRSIET §H3 RoTT T5© 273 97 AFRT ARFET 2@
ST ST | T AT [FTTHNF (F70 FE (7 oA NE THIT T% T EF | - S8 T (W@
ST AP ST fmger afed1 F@|

Question 75: (FIF (TG (Schengen) §f& T5{Re 23?2

A. SO ST (GNP
B. 528 S (FAFSIT
C. YDV T I
D. b ST JEamsf

Answer: S»v ¢ ST TS

Explanation: - CTA@ §f& 26T 9114 56 w18 A0 §fe I1 55> TEF b8 I FJrEsaNsla
CTAE 2 IH0 27| - FEH FRFT T 520¢ TEF 30 Mb| - 97 ST 2OEE IS &5 3
TR FE I o6 [APoe Fa71 - T FOEER 20fT (71 CTaEe AR G e | (573
TS foST 29T SINRD)

Question 76: [T S1FF 7 AT F6? 9, », 39, BY, ....2?

A. 385
B. 89
C. 38¢



D. 38w
Answer: 89

Explanation: 9, 3,39, bS ... =9\, VY, VY, V8, V(¢ .......... . . 9t =389

Question 77: secA + tanA = 5/2 3(, secA — tanA= ?

A. Thu Jan 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
B. Sun Jan 05 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
C. Fri May 02 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)
D. Wed Feb 05 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Wed Feb 05 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
Explanation: sec2A - tan2A = 1 = (secA + tanA)(secA - tanA) = 1 .". (secA - tanA) = 1/(5/2) =

2/5

Question 78: STyfas (TuTfefes fifes MO SET =6 (F1 (77 T©?

A. IFATT
B. IJ&91¥

Answer: Si9

Explanation: Chinese civil service, the administrative system of the traditional Chinese
government, the members of which were selected by a competitive examination. The Chinese
civil service system gave the Chinese empire stability for more than 2,000 years and provided
one of the major outlets for social mobility in Chinese society. It later served as a model for the
civil service systems that developed in other Asian and Western countries

Question 79: @ I SIS o FAC (Fa% Fo3 & MNMI?

OO w»
cowe

Answer: Y4



Explanation: J(6F (Fa% A7 I I TN T TAN© (@ M@ | ok JEF TN 8 34 (&
FACE 97 (Fa%e bb 3 Jfa MF|

Question 80: Sustainable Development Goals (SDG) FIG?

A. vo 5
B.s¢ fo
C.wo\ o
D. vaft

Answer: A6

Explanation: (5352 S&3« %i31al (SDG): - SDG - a9 %[ij"‘”f Sustainable Development Goals 31
(BFSR ST IAFS| - SDGs-IF (ITTT 05 (A 2090 HE| ate (6 Safb (@f%F %7 (Goals) 97
A3 S L6 BIEfe ST TR - AT T (0T 5 ABIHE Tety AF6 AP SFH© SIIFTY
fAfRered T SIfoRE (G312 STIF T T3 F@| - UNDP - 97 Jo7% TRAPNOR IR SeRET
A T 950 3 O AT RIS 2000 NETH A& 92 7FH 3 SNsfG TR IRFIFE NI
ferefTaer Fa7 271 S TS I AF 7w 3 IFNAEE ARG [Afee a7 oo TFfos 8 Wfas
T (G52 BITF A6 FIT SFAT| T3 SfeT 8 UNDP SFITRE

Question 81: wo .11 71 MG fute SIETE FTF (W@ X THT 7T (@ (TR | I I ©1F 51
RS FT© IR AT (WF S THI STHT FF A5T0 | ST ST Fo f=e?

A. 8 f&.f1. /251
B. a.¢ f&.fr./367
C. b &/ /=67
D. ¢ f&.fr/m%1

Answer: ¢ f&.f./8%)

Explanation: &f3, SFeT 933 Jfaa sSIS@sT INEE x 932 y FENEE/EAGT ST TETHTE, 30/y = 30/x
- 2 3T TP, 30/y = 30/2x + 1 .". 30/x - 2 = 30/2x + 1 = 30/x - 30/2x =1+ 2 =3 = (60 -
30)/2x = 3 = x = 30/(2x3) = 5 .". SIYEIA STSE@T INTF 5 [FENCR/EGT

Question 82: FRATCTA =T AQYH NfOF A (F1AM?

A. i, 1, T8, (T8, e 8 MRS
B. 3, *%, (T8, e, T8 8 My
C. 7R%, (T8, e, 57, M 3 I
D. My, 31, 793, (TG, Ao 3 I3



Answer: iF, I, 793, (TS, Mo 8 IV

Explanation: IRNPT FTIQA (W71 (TR AT TOTF ATCT A9 AMTS1F F6 A3 (NS s FH0
RS 27| (BIENTF AT 726+l ANAFTH S AfS M@ | - T3 IR STy INAS
STFBII G 2pfod O TF 3 I, SN J6fere IR I¥f3te T2 =M 3Q© [oe Fa1
A - I M, 34, RS, (778, Mo 3 I76| 7S 7 TN 9@ 3@ Il 27| @ (F, N3 Y feffie
STAER NER IQIEATON TG AT A, FIT3 FAAS (FIET (FIET I BF 3 (1 I II©
G TG | - TFOAE IRATGCT 18 OB A Rpana: 6 J1 (¥F (37 A (H1FA-6a (@
FN-189) G ST 51 G T, S (VF AT I TR TS (BFD-SMAG (A
AAF-F1SF) =G FFATSIT G I I AR NH-DB I (A HH I AT CTIST!
(FIIEF-TITTF (NF NH-H1F) S AT 8% NeFw | S35 IRATITAT

Question 83: 5+ 8+ 11 +14 + ...... H1A6F F© ©F 7w 3022

A. 60 O v
B. 70 ©¥ v
C. 90 &3 ™
D. 100 ©o¥ *™m

Answer: 100 ©¥ v

Explanation: a7, X1A0F I¥F M a = 5, NHFT 9&F d = 8 - 5 = 3 §fF, n ©F W = 302 AXNIT
S, n®eIm=a+(n-1)d3a1,5+(n-1)3=30231,n=100 .. §6F 100 & v 302 TJ|
Question 84: (F16 FYAH SAaI?

A. T

B. &gt

C. (N2

D. To3]

Answer: 93]

Explanation: F57a-T3[d1 IRNCTR [Fe1¥ 93 fA0ga Aiefew Fabryea Mas swes | fsa7e, B,

BIFE AT IRTOCTT VIS I TAR 97 AN AFT| FFOIEE TR O (F S TN I
IfSfRe | FHI-TAE A6 T Tl @R GHFHE, 47, f6I 932 FAOI-SMa1R Fargerat|

AT NS GEFHF, ST a3 foF1 A01 foafb ¥qwTer 230 432 SHEF MHfR 3 Goraa NjT6!

PRI af3per=ey Sroif& GIFfa18 SITIRPT (A TS 57 AR | TSz IRAMAGA

Question 85: [T T MEETF I (FA6 INE@? 15/A, G/21, 28IN, ?/?



A. 54/N
B. T/18
C. L/52
D. V/36

Answer: V/36

Explanation: T3F 3@ V/36 15/A, G/21, 28/N, V/36 - a3 419 I+ 472 TG INFM 6, 7, 8 FE
& (AR

Question 86: ToH F© WET AT (ST A (SNI6 VAT AT T STEATET ST F{ET?

A. S>3, FEET

B. a8, 77y fugdt
C. $99¢, (IS
D. 99, ISt

Answer: 599, AT RRIN

Explanation: - F5i3% (T ST TRANH (FO0F TR SDI© NETH ¢-» (BT ATSRAH

TS AT AT (S TCTF AR (F) 5@ TG SRATZ 3 Ta A6 FE| -
TICIA TN AT (D0 I S S NEH $-b (TEHTF TN NYINT TS (TG TRA | - NI
I S AT SO W 205D TETH ¢-3b AB T AGIIRON FGETA A1 =G| (S 577
RIGCEIED)

Question 87: 93 T5f& TR ¢so BIFTH (5F @ 20 BTIFTT 973 ¢o BIFIH (16 TN Sely Sey(1e
FAEH | FO TFNE OIF A THT FHAT T2

A. © TFTE

B. 8 %19

C. b T3

D. ¢ JF1E

Answer: ¢ J91F

Explanation: ¢ FFT IEH THT FTTTF| (¢o X D) + (R0 X 9) = €bo (€0 X 9) + (R0 X by) =

@S0 (@o X @) + (R0 X b¥) = ¢do (Co x 9) + (R0 X ¥) = ¢do (Go X D) + (R0 X ¥) = @do

Question 88: logx1/9 = -2 T, x A7 N (FAG?



A.-1/3

B.2

C. Fri Jan 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
D.3

Answer: 3

Explanation: logx1/9=-2 = x-2=1/9 = 1/x2=1/32 = x2=32 .". x=3

Question 89: IUCN a7 F15 X frgam -

A. T oo T FAT

B. ST wae FAT

C. AT 7F e (14 F7
D. AFfeF =9 TH FAT

Answer: PP =1 T 31

Explanation: - [IUCN (The International Union for Conservation of Nature) ’a‘(ﬁTﬁ?ﬂ% 3 W
T BT ARG TH f7TF 936 AEH6F T3 - Af6 L8 TEF ¢ AR FII BAGAT
TE IS 2| - 97 THAwIF ROATNSH TS T2H 38| - ISAF T AT AT 3,800 A%
A0S AT T LB,0001 - Aft AT S LofbT AT WeT F1 Fa=| T35: IUCN

Question 90: FLIEET FGEIFT (FI N IHFT© 27?

A. 00 AT
B. 200) NI
C. x009 N[
D. 000 NI

Answer: Yooo NI

Explanation: - (& f¥aT=ra1 f43 3 @S §fe 6N FIGIEET (G| - 000 NETH 18-35 SIS
FIATSTH AT 2 AYO© (51 V1Tl f377F T aft sjfze 2| - {fe’ FFT 27 2000
TR 5SS (EBTA| - §fSTbe TFAFTE (7 Sowff a3 SR aefb (71 - IRACTT 28 (3 2000 AT
G AT ¢ (HHANE 2008 A6 SENT FE| (SN@: FOTT SFITZG)

Question 91: (F1F SIFE NF IFATE 2@ ST TR ANOF [TFRT AT IAETT FE?

A. So TG, Y0%0

B. 5¢ IR, 2030



C. Vb SA®I]F, 030
D. > (T6F, Y0%0

Answer: %> (C6FF, 2030

Explanation: ST@S[63 =TI ©lF REEST 798 v» (NHFF, 2030 JFATP 2A@F &I
AT (TFTRT ANETT FE | (SXAz T SNGITT 932 AT SFHAT)

Question 92: IFSTI BT (FI Al AW YT TAA?

A. &35
B. =fseami 8 fagan
C. 935 8 Afewa50

D. &35 3 SIS
Answer: 53357 3 ST

Explanation: - $»0¢ SIETA b IMTTAF T FTHEH WA JRAT (ARG (S G067 F0T F1 =7 1
BET A S| - IE5 ARTGE IRTT S T TIFSIF S TSAo® 9506 SFITAf
HBAT| - S0 SIER S (TFHTF IFSEE (FFT T9a FAT 2T IR S¢ ABRA (V@ 8] I 27| - 617,
FOPNRT 3 SRS IS5 933 SIS oV SIf3® 2 'F357 8 SIS ST | 9 SCTH ATSTa A1fere 27
BRI - A5, R 8 SRGF o sifde 2 63357 FT1 A STCTH AOHTET 3 Feadrol| - [
FEN 3 Rqa SlF [AEIEeTr a3 IS N FEC &oT Na17 05 77 Fa© 0 771 - 16
AEET THT 0 N FSOTHE HGET TOT T3 581 ffelte 5765 F@F @FT (W | S35 (NFN O
8 SPTSE, AT JITT CIfel, HESTH (312 (NSCHT 29; IRNARGAT 932 IRAWCTT ez 8 frgserer,
FIH-T Cfer

Question 93: &7 OEF F© W Jfefdo 272

A. o0
B. v
C. ro000
D. Y954

Answer: Y%

Explanation: - 534 ST X3 (T JT6 (FSAIMICT (@HABI ST (0T 53 J[$ Y% SR Jfeo1
FHI | - CTFIIMIGIT BIST G (A 059 SETH AT JfSYm S O JIET FASTH SASTRSSE
ST A7 SACe felf3e o O TR F91 27| - TON Y[SJa SEF AT Ao | (S

AEYF SIET SWIZD)



Question 94: 93f6 (BT vooo BT MfF &1 BRTSIHT & 2.¢ b NBIF 932 77 L.2¢ fFBI1F]
®IAT%IF srolge] 9?2

A.s.¢ foF
B. w.¢ foE
C. v o

D. x.¢ fNo1F

Answer: .¢ fB1F
Explanation: &f3, (SIRTSIGF selger = F A6 .°. (CIRTSIGT AFew = (0T x % x SOIFel = 2.¢Y x

$.3Q X F = 0T FANGIF AT e, S FIRGIF = Sooo fAGF .*. Booo [FIBIF = Booo/Sooo = ¥
HANGIE 00, 0T = b .. F= v/} =3¢ oEF

Question 95: BTE® I2E@F (F1F [Uafb e NS [Was (Civil Service Day) REE Tifere 23?

A. So (I
B.: I®Ed

C. 3V S

D. 3 afse

Answer: 35 afSe

Explanation: The Government of India celebrates April 21 every year as ‘Civil Services day’ as
an occasion for the civil servants to rededicate themselves to the cause of citizen and renew

their commitments to public service and excellence in work. Source: Indian Government
Website

Question 96: 9% TSMHET 9F 12 OTT 376 IS AT ST 2T I5F 7 IO FEAT T
30 A?

A 1:2
B. &:
C.2
D. 4:
Answer: 4:1

Explanation: T3, 930 I5ma 9% T2 = a; 97 ¢ V2a TSPNE, J7d I @g 95 2 = a/d; 97
Ff 2(a/4) ATTF JAPTS, V2a : V2(a/d) .. 4 : 1 [CETTHE 4\2a T 89 FEH]



Question 97: ST (TRTRT (HI AP e aTI= 830 BIFTI IM S TRA 77 S0% (o 7T a3
ANET & T TF 0% (% T, ©RE S A 77 A= {9 Fo @2

A. 8%0.30 BIFT
B. 99o.wo BIFT
C. Y30.40 BIFT
D. ¢@8.80 BT

Answer: ©¢8.80 GIFT

Explanation: (7331 (%, S 3T 830 BIFT S TR 77 S0% JG(® I = 830 + 830 97 do/Soo =
8LY BIFT AET & T 74, 0% F(@to I = 8LX + 8L AF Y0/So00 = ¢¢8.8 BIFT

Question 98: P(A) = 1/3; P(B) = 2/3; A 8 B I18I9 @ P(B/A) =

A. Tue Mar 04 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

B. Sat Jan 04 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

C. Fri Jan 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

D. Mon Feb 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Mon Feb 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Explanation: A 3 B 18l T641, P(ANB) = P(A).P(B) = 1/3.2/3 = 2/9 .". P(B/A) = P(ANB)/P(A) =
2/9/1/3=2/3

Question 99: x2 - 3x - 10 > 0 IATHILI THANT (F1AH?

A. (-, -1) U (4, +=)

B. (-5, -°) U (=, 2)

C.(»,2)U (5, +=)

D. (-, -2) U (5, +=)

Answer: (-, -2) U (5, +«)

Explanation: x2 - 3x - 10 > 0 (x - 5)(x + 2) > 0 {6 F1H SAHT ©¥F2 HATHAF I [T ACHH IS @
% TSR HATHS TN AT 2T " fof(ofT ST = (o0, -2) U (5, +0)

Question 100: IS @TST T (F1 foa 2@? -> 27.PNG

A. 28.PNG
B. 30.PNG



C. 31.PNG
D. 29.PNG

Answer: 29.PNG

Explanation: BCS_14.PNG



